A UTTLE BIT OF MATHS EVERY DAY ... (Numser SkitLs)

MoNDAY I TUESDAY WEDNESDAY THURSDAY FRIDAY SATURDAY | SUNDAY
1 1 3 4 5
What is Calculate What is the missing
. 90 . lue? Jade cuts 4 metres of ribbon into three pieces. The length of
MAY 2019 238 - 7 50x (36 - 6) values the first piece is 124 cm. The length of the second piece is
3‘+ 3w ? = 942 - 395 1.65 metres.
5“? Work out the length of the third piece.
hiom
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Calculate What is ? What is How many vertices work out A toy shop orders 17 boxes of marbles. Each box
57 43 b_ 3 2 3 6+0.257? does a cuboid have? 150 x 12 contains § bags of marbl:IS;Each bag contains 45
— — — marpjles.
100 100 [OD 1 Z - g ‘_z_o Z L ' 8 ‘800 How many marbles does the shop order in total?
2810
13 14 15 16 17 18 19
What is Calculate Calculate Calculate Work out Lara chooses a number less than 20
12.007-7.8° -7-12 18 x 46 3.9 +12.042 4+1 e e by 2 o e 0 6
She then divides this result by 3 Her answer is 4.5
R 2 q, - . 4 What was the number she started with?
20 n 1 3 4 5 26
What is Round 8 486 to the Calculate Put these numbers in size What is Which two numbers multiply together to equal 1
894 -897 nearest thousand 0.2x10 order (smallest first) 5 million minus million,
0.78 0.607 5.6 0.098 150,000 ? 2,000 ((5,000) 50,000
805 8000 20 4.003 ’
4.850,000
1 28 29 30 31
What is What is Calculate What is Calculate
25% of 18007 1089 - 1007 15% of £120 6-037 5.14 REMEMBER: THE BEST WAY TO REVISE MATHS IS
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TO "DO MATHS"!
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